
C
+

+
:

U
n

peu
de

m
éta-program

m
ation

C
alculde

constantes

C
alculsur

les
types

V
érification

de
concept

P
olym

orphism
e

statique

Liste
de

types

H
iérarchie

autom
atique

M
anipulation

de
vecteurs

1

C
+

+
:

C
om

pter
le

nom
bre

d’objets

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
C
o
m
p
t
e
u
r
{

s
t
a
t
i
c
u
n
s
i
g
n
e
d
c
p
;

p
r
o
t
e
c
t
e
d
:

C
o
m
p
t
e
u
r
(
)
{

+
+
c
p
;
}

C
o
m
p
t
e
u
r
(
c
o
n
s
t
C
o
m
p
t
e
u
r
&
c
)

{
+
+
c
p
;
}

~
C
o
m
p
t
e
u
r
(
)
{

-
-
c
p
;
}

}
;

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

u
n
s
i
g
n
e
d
C
o
m
p
t
e
u
r
<
T
>
:
:
c
p
=
0
;

s
t
r
u
c
t
A

:
p
u
b
l
i
c
C
o
m
p
t
e
u
r
<
A
>
{
/
*
.
.
*
/
}
;

2

C
+

+
:

C
alculde

constantes

G
râce

aux
classes

tem
plate,on

peutfaire
des

calculs
récursifs

sur

les
constantes.

t
e
m
p
l
a
t
e
<
u
n
s
i
g
n
e
d
N
>

s
t
r
u
c
t
N
b
B
i
t
s
{

s
t
a
t
i
c
c
o
n
s
t
u
n
s
i
g
n
e
d
r
e
s
=

1
+
N
b
B
i
t
s
<
N
/
2
>
:
:
r
e
s
;

}
;

t
e
m
p
l
a
t
e
<
>

s
t
r
u
c
t
N
b
B
i
t
s
<
0
>
{

s
t
a
t
i
c
c
o
n
s
t
u
n
s
i
g
n
e
d
r
e
s
=

0
;

}
;

3

C
+

+
:

C
alculde

constantes

O
n

peutvérifier
que

la
constante

estbien
calculée

au
m

om
entde

la
com

pilation.
t
e
m
p
l
a
t
e
<
u
n
s
i
g
n
e
d
N
>

s
t
r
u
c
t
A
f
f
{
}
;

i
n
t
m
a
i
n
(
)
{

A
f
f
<
N
b
B
i
t
s
<
2
7
3
>
:
:
r
e
s
>
:
:
p
r
i
n
t
;
}

Lorsqu’on
com

pile
avec

g
+
+

on
obtient

e
r
r
o
r
:

’
p
r
i
n
t
’
i
s

n
o
t
a

m
e
m
b
e
r
o
f

’
A
f
f
<
9
u
>
’

4

C
+

+
:

C
alculde

constantes

A
ttention,le

code
suivantn’estpas

correct:

t
e
m
p
l
a
t
e
<
u
n
s
i
g
n
e
d
N
>

s
t
r
u
c
t
N
b
B
i
t
s
{

s
t
a
t
i
c
c
o
n
s
t
u
n
s
i
g
n
e
d
r
e
s
=

(
N
=
=
0
)
?

0
:

(
1
+
N
b
B
i
t
s
<
N
/
2
>
:
:
r
e
s
)
;

}
;

E
n

effet,pour
pouvoir

évaluer
l’expression,le

com
pilateur

évalue
toutes

les
sous-expressions,d’où

un
récurrence

infinie.

5

C
+

+
:

Tester
l’égalité

de
deux

types

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
,

t
y
p
e
n
a
m
e
U
>

s
t
r
u
c
t
A
r
e
E
q
u
a
l
s
{

/
/

D
é
f
i
n
i
t
i
o
n

s
t
a
t
i
c
c
o
n
s
t
b
o
o
l
v
a
l
=
f
a
l
s
e
;

}
;

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
A
r
e
E
q
u
a
l
s
<
T
,
T
>
{

/
/

S
p
é
c
i
a
l
i
s
a
t
i
o
n

s
t
a
t
i
c
c
o
n
s
t
b
o
o
l
v
a
l
=
t
r
u
e
;

}
;

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
,

t
y
p
e
n
a
m
e
U
>

v
o
i
d
t
r
u
c
(
c
o
n
s
t
T
&

x
,
c
o
n
s
t
U
&
y
)
{

i
f
(
A
r
e
E
q
u
a
l
s
<
T
,
U
>
:
:
v
a
l
)
/
/
.
.
.

}
6



C
+

+
:

V
érification

de
concept

O
n

peutécrire
un

type
tem

plate
pour

vérifier
un

concept.
P

ar

exem
ple,pour

s’assurer
qu’un

type
possède

–
une

m
éthode

s
t
a
t
i
c
v
o
i
d
m
a
k
e
(
i
n
t
)
;

et

–
une

m
éthode

objeti
n
t
g
e
t
(
)
c
o
n
s
t

:

O
n

écritla
classe

suivante:
t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
,

v
o
i
d
(
*
M
a
k
e
)
(
i
n
t
)
=

&
T
:
:
m
a
k
e
,

i
n
t
(
T
:
:
*
G
e
t
)
(
)
c
o
n
s
t
=

&
T
:
:
g
e
t
>

s
t
r
u
c
t
C
h
e
c
k
C
o
n
c
e
p
t
{

s
t
a
t
i
c
c
o
n
s
t
i
n
t
c
h
e
c
k
=
0
;

}
;

7

C
+

+
:

V
érification

de
concept

P
our

vérifier
siun

type
t
r
u
c
_
t

vérifie
le

concept,ilsuffitd’écrire

{
C
h
e
c
k
C
o
n
c
e
p
t
<
t
r
u
c
_
t
>
:
:
c
h
e
c
k
;
}

.

S
ila

classe
t
r
u
c
_
t

ne
possède

pas
les

m
éthodes

dontle
type

estceluides
pointeurs

requis
en

param
ètres

de
C
h
e
c
k
C
o
n
c
e
p
t

,

le
com

pilateur
affiche

une
erreur.

e
r
r
o
r
:
‘
g
e
t
’
i
s
n
o
t
a

m
e
m
b
e
r
o
f
‘
t
r
u
c
_
t
’

e
r
r
o
r
:
t
e
m
p
l
a
t
e
a
r
g
u
m
e
n
t
3

i
s

i
n
v
a
l
i
d

8

C
+

+
:

R
appel:

P
olym

orphism
e

dynam
ique

R
appel:

de
m

anière
dynam

ique,le
polym

orphism
e

s’obtientgrâce

à
v
i
r
t
u
a
l

.

B

n
o
r
m
(
)
:
i
n
t

A

b
i
n
o
r
m
(
)
:
i
n
t

v
i
r
t
u
a
l
 
n
o
r
m
(
)
:
i
n
t

9

C
+

+
:

R
appel:

P
olym

orphism
e

dynam
ique

s
t
r
u
c
t
A

{

v
i
r
t
u
a
l
i
n
t
n
o
r
m
(
)
{
/
*
*
*
/
}

i
n
t
b
i
n
o
r
m
(
)
{

r
e
t
u
r
n
2
*
n
o
r
m
(
)
;
}

}
;

s
t
r
u
c
t
B

:
p
u
b
l
i
c
A

{

i
n
t
n
o
r
m
(
)
{

/
*
*
*
/
}

}
;

B
b
;

/
/
.
.
.

b
.
b
i
n
o
r
m
(
)
;
/
/
C
a
l
c
u
l
é
a
v
e
c
n
o
r
m
(
)
d
e
B

10

C
+

+
:

P
olym

orphism
e

statique

O
n

voudraitun
com

portem
entsim

ilaire,avec
des

appels
de

m
éthodes

résolus
à

la
com

pilation.

P
our

cela,on
fera

en
sorte

que
chaque

classe
soitparam

étrée
par

le
vraitype

de
l’objet.

A
insi,la

classe
B

estpassée
en

param
ètre

de
la

classe
qu’elle

étend.

s
t
r
u
c
t
B

:
p
u
b
l
i
c
A
<
B
>
{

i
n
t
n
o
r
m
(
)
{

/
*
*
*
/
}

}
;

11

C
+

+
:

P
olym

orphism
e

statique

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
S
e
l
f
{

p
u
b
l
i
c
:

t
y
p
e
d
e
f
T

t
y
p
e
;

t
y
p
e
&
s
e
l
f
(
)
{
r
e
t
u
r
n
s
t
a
t
i
c
_
c
a
s
t
<
t
y
p
e
&
>
(
*
t
h
i
s
)
;
}

c
o
n
s
t
t
y
p
e
&
s
e
l
f
(
)
c
o
n
s
t
{

r
e
t
u
r
n
s
t
a
t
i
c
_
c
a
s
t
<
c
o
n
s
t
t
y
p
e
&
>
(
*
t
h
i
s
)
;
}

}
;

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
A

:
p
u
b
l
i
c
S
e
l
f
<
T
>
{

i
n
t
n
o
r
m
(
)
{

/
*
*
*
/
}

i
n
t
b
i
n
o
r
m
(
)
{

r
e
t
u
r
n
2
*
t
h
i
s
-
>
s
e
l
f
(
)
.
n
o
r
m
(
)
;
}

}
;

12



C
+

+
:

P
olym

orphism
e

statique

La
solution

proposée
fonctionne

bien
sion

veutsim
uler

une
classe

abstraite
A

.M
ais

sinon,on
ne

peutpas
instancier

d’objetde
type

A
,puisqu’ils’agitd’une

classe
tem

plate...

13

C
+

+
:

P
olym

orphism
e

statique

P
rem

ière
solution:

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
A
_
:
p
u
b
l
i
c
S
e
l
f
<
T
>
{

i
n
t
n
o
r
m
(
)
{

/
*
*
*
/
}

i
n
t
b
i
n
o
r
m
(
)
{

r
e
t
u
r
n
2
*
t
h
i
s
-
>
s
e
l
f
(
)
.
n
o
r
m
(
)
;
}

}
;

s
t
r
u
c
t
A

:
p
u
b
l
i
c
A
_
<
A
>
{
}
;

s
t
r
u
c
t
B

:
p
u
b
l
i
c
A
_
<
B
>
{

i
n
t
n
o
r
m
(
)
{

/
*
*
*
/
}

}
;

14

C
+

+
:

P
olym

orphism
e

statique

O
n

peutm
êm

e
étendre

ce
principe

à
toutes

les
classes

de
la

hiérarchie:
t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
B
_

:
p
u
b
l
i
c
A
_
<
T
>
{

i
n
t
n
o
r
m
(
)
{

/
*
*
*
/
}

}
;

s
t
r
u
c
t
B

:
p
u
b
l
i
c
B
_
<
B
>
{
}
;

15

C
+

+
:

P
olym

orphism
e

statique

s
e
l
f
(
)
:
B

S
e
l
f

A

s
e
l
f
(
)
:
A

b
i
n
o
r
m
(
)
:
i
n
t

n
o
r
m
(
)
:
i
n
t A
_

A

A

b
i
n
o
r
m
(
)
:
i
n
t

n
o
r
m
(
)
:
i
n
t

B

A
_

n
o
r
m
(
)
:
i
n
t

B
_

B

B

S
e
l
f

B

16

C
+

+
:

P
olym

orphism
e

statique

S
econde

solution:

O
n

crée
un

type
N
u
l
l
T
y
p
e

pour
param

étrer
un

type
qu’on

souhaite
instancier.

s
t
r
u
c
t
N
u
l
l
T
y
p
e
{
}
;

Le
type

A
<
T
>

représente
alors

un
objetdontle

vrai
type

estT
,

saufsi T
=
N
u
l
l
T
y
p
e

,auquelcas
le

vraitype
estA

<
N
u
l
l
T
y
p
e
>

.17

C
+

+
:

P
olym

orphism
e

statique

O
n

peutécrire
une

classe
quifaitce

calcul:
t
e
m
p
l
a
t
e
<
t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
>
c
l
a
s
s
A
,

t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
T
r
u
e
T
y
p
e
{

t
y
p
e
d
e
f
T

t
y
p
e
;

}
;

t
e
m
p
l
a
t
e
<
t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
>
c
l
a
s
s
A
>

s
t
r
u
c
t
T
r
u
e
T
y
p
e
<
A
,
N
u
l
l
T
y
p
e
>
{

t
y
p
e
d
e
f
A
<
N
u
l
l
T
y
p
e
>
t
y
p
e
;

}
;

18



C
+

+
:

P
olym

orphism
e

statique

La
classe

A
s’écritalors

:
t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
=
N
u
l
l
T
y
p
e
>

s
t
r
u
c
t
A

:

p
u
b
l
i
c
S
e
l
f
<
t
y
p
e
n
a
m
e
T
r
u
e
T
y
p
e
<
A
,
T
>
:
:
t
y
p
e
>

{

i
n
t
n
o
r
m
(
)
{

/
*
*
*
/
}

i
n
t
b
i
n
o
r
m
(
)
{

r
e
t
u
r
n
2
*
t
h
i
s
-
>
s
e
l
f
(
)
.
n
o
r
m
(
)
;
}

}
;

E
ton

peutinstancier
un

objetde
type

A
en

écrivantA
<
>
a
;

19

C
+

+
:

P
olym

orphism
e

statique

O
n

peutétendre
ce

principe
à

toutes
les

classes
de

la
hiérarchie:

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
=
N
u
l
l
T
y
p
e
>

s
t
r
u
c
t
B

:

p
u
b
l
i
c
A
<
t
y
p
e
n
a
m
e
T
r
u
e
T
y
p
e
<
B
,
T
>
:
:
t
y
p
e
>

{

i
n
t
b
i
n
o
r
m
(
)
{

r
e
t
u
r
n
2
*
t
h
i
s
-
>
s
e
l
f
(
)
.
n
o
r
m
(
)
;
}

}
;
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C
+

+
:

P
olym

orphism
e

statique

B

n
o
r
m
(
)
:
i
n
t

N
u
l
l
T
y
p
e

A

b
i
n
o
r
m
(
)
:
i
n
t

n
o
r
m
(
)
:
i
n
t

A

b
i
n
o
r
m
(
)
:
i
n
t

n
o
r
m
(
)
:
i
n
t

N
u
l
l
T
y
p
e

B
<
N
u
l
l
T
y
p
e
>

S
e
l
f

S
e
l
f

A
<
N
u
l
l
T
y
p
e
>

s
e
l
f
(
)
:
A
<
N
u
l
l
T
y
p
e
>

B
<
N
u
l
l
T
y
p
e
>

s
e
l
f
(
)
:
B
<
N
u
l
l
T
y
p
e
>

21

C
+

+
:

Liste
de

types

s
t
r
u
c
t
N
u
l
l
T
y
p
e
{
}
;

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
H
,

t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
T
y
p
e
L
i
s
t
{

t
y
p
e
d
e
f
H

h
e
a
d
;

t
y
p
e
d
e
f
T

t
a
i
l
;

}
;

t
y
p
e
d
e
f

T
y
p
e
L
i
s
t
<
i
n
t
,
T
y
p
e
L
i
s
t
<
d
o
u
b
l
e
,
N
u
l
l
T
y
p
e
>
>

l
i
s
t
e
_
t
;
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C
+

+
:

Liste
de

types

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
L
i
s
t
>

s
t
r
u
c
t
L
i
s
t
L
e
n
g
h
t
{

s
t
a
t
i
c
c
o
n
s
t
i
n
t
v
a
l
u
e
=

1
+
L
i
s
t
L
e
n
g
h
t
<
t
y
p
e
n
a
m
e
L
i
s
t
:
:
t
a
i
l
>
:
:
v
a
l
u
e
;

}
;

t
e
m
p
l
a
t
e
<
>

s
t
r
u
c
t
L
i
s
t
L
e
n
g
h
t
<
N
u
l
l
T
y
p
e
>
{

s
t
a
t
i
c
c
o
n
s
t
i
n
t
v
a
l
u
e
=

0
;

}
;
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C
+

+
:

Liste
de

types

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
L
i
s
t
,
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
L
i
s
t
A
d
d
{

t
y
p
e
d
e
f
T
y
p
e
L
i
s
t
<

t
y
p
e
n
a
m
e
L
i
s
t
:
:
h
e
a
d
,

t
y
p
e
n
a
m
e
L
i
s
t
A
d
d
<
t
y
p
e
n
a
m
e
L
i
s
t
:
:
t
a
i
l
,
T
>
:
:
t
y
p
e

>
t
y
p
e
;

}
;

t
e
m
p
l
a
t
e
<
>

s
t
r
u
c
t
L
i
s
t
A
d
d
<
N
u
l
l
T
y
p
e
,
T
>
{

t
y
p
e
d
e
f
T
y
p
e
L
i
s
t
<
T
,
N
u
l
l
T
y
p
e
>
t
y
p
e
;

}
;

24



C
+

+
:

C
réer

des
listes

O
n

peututiliser
des

fabriques
pour

faciliter
la

création
des

listes
de

types.
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C
+

+
:

C
réer

des
listes

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
1
,
t
y
p
e
n
a
m
e
T
2
=
N
u
l
l
T
y
p
e
,

t
y
p
e
n
a
m
e
T
3
=
N
u
l
l
T
y
p
e
,
t
y
p
e
n
a
m
e
T
4
=
N
u
l
l
T
y
p
e
>

s
t
r
u
c
t
M
a
k
e
L
i
s
t
{

t
y
p
e
d
e
f
T
y
p
e
L
i
s
t
<
T
1
,

t
y
p
e
n
a
m
e
M
a
k
e
L
i
s
t
<
T
2
,
T
3
,
T
4
,
N
u
l
l
T
y
p
e
>
:
:
t
y
p
e

>
t
y
p
e
;
}
;

t
e
m
p
l
a
t
e
<
>

s
t
r
u
c
t
M
a
k
e
L
i
s
t
<
N
u
l
l
T
y
p
e
,
N
u
l
l
T
y
p
e
,

N
u
l
l
T
y
p
e
,
N
u
l
l
T
y
p
e
>
{

t
y
p
e
d
e
f
N
u
l
l
T
y
p
e
t
y
p
e
;
}
;
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C
+

+
:

C
réer

des
listes

O
n

peutaussiécrire
des

classes
pour

concaténer
les

listes,
supprim

er
les

doublons,etc.

27

C
+

+
:

H
iérarchie

autom
atique

O
n

peutgrâce
aux

tem
plates

etaux
listes

de
types

engendrer

autom
atiquem

entune
hiérarchie.

Le
butpeutêtre

de
créer

un
type

quiétend
tous

les
types

de
la

liste;

d’avoir
une

m
éthode

définie
pour

chaque
type

de
la

liste

28

C
+

+
:

H
iérarchie

autom
atique

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
M
o
n
H
a
n
d
l
e
r
{

b
o
o
l
m
a
_
m
e
t
h
o
d
e
(
c
o
n
s
t
T
&
t
)

c
o
n
s
t
{

/
*
*
*
*
/
}

}
;
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C
+

+
:

H
iérarchie

autom
atique

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
L
i
s
t
,

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
>
c
l
a
s
s
H
a
n
d
l
e
r
>

s
t
r
u
c
t
A
u
t
o
m
a
t
i
c
H
i
e
r
a
r
c
h
y
:

p
u
b
l
i
c
H
a
n
d
l
e
r
<
t
y
p
e
n
a
m
e
T
L
i
s
t
:
:
h
e
a
d
>
,

p
u
b
l
i
c
A
u
t
o
m
a
t
i
c
H
i
e
r
a
r
c
h
y
<
t
y
p
e
n
a
m
e
T
L
i
s
t
:
:
t
a
i
l
,

H
a
n
d
l
e
r
>
{
}
;

t
e
m
p
l
a
t
e
<
t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
>
s
t
r
u
c
t
H
a
n
d
l
e
r
>

s
t
r
u
c
t
A
u
t
o
m
a
t
i
c
H
i
e
r
a
r
c
h
y
<
N
u
l
l
T
y
p
e
,
H
a
n
d
l
e
r
>
{
}
;30



C
+

+
:

H
iérarchie

autom
atique

s
t
r
u
c
t
A

:

A
u
t
o
m
a
t
i
c
H
i
e
r
a
r
c
h
y
<
M
a
k
e
L
i
s
t
<
i
n
t
,
d
o
u
b
l
e
>
:
:
t
y
p
e
,

M
o
n
H
a
n
d
l
e
r
>
{

/
*
*
*
*
/

}
;
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C
+

+
:

H
iérarchie

autom
atique

N
u
l
l
T
y
p
e
,
 
M
o
n
H
a
n
d
l
e
r

[
d
o
u
b
l
e
]
,
 
M
o
n
H
a
n
d
l
e
r

[
i
n
t
,
d
o
u
b
l
e
]
,
 
M
o
n
H
a
n
d
l
e
r

A

A
u
t
o
m
a
t
i
c
H
i
e
r
a
r
c
h
y

A
u
t
o
m
a
t
i
c
H
i
e
r
a
r
c
h
y

A
u
t
o
m
a
t
i
c
H
i
e
r
a
r
c
h
y

i
n
t

d
o
u
b
l
e

M
o
n
H
a
n
d
l
e
r

M
o
n
H
a
n
d
l
e
r

32

C
+

+
:

H
iérarchie

autom
atique

U
n

autre
type

de
hiérarchie

autom
atique

estcelle
quiperm

et

d’hériter
plusieurs

fois
de

la
m

êm
e

classe.

O
n

veutpar
exem

ple
im

planter
la

com
position

d’un
objetde

type
V

oiture
avec

4
objets

de
type

R
oue,ce

quise
faiten

C
+

+
via

l’héritage
privé.
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C
+

+
:

H
iérarchie

autom
atique

t
e
m
p
l
a
t
e
<
u
n
s
i
g
n
e
d
N
,

t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
N
o

:
T
{
}
;

t
e
m
p
l
a
t
e
<
u
n
s
i
g
n
e
d
N
,

t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
H
i
e
r
a
r
c
h
i
e
:

N
o
<
N
,
T
>
,
H
i
e
r
a
r
c
h
i
e
<
N
-
1
,
T
>

{
}
;

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
H
i
e
r
a
r
c
h
i
e
<
0
,
T
>
{
}
;

s
t
r
u
c
t
V
o
i
t
u
r
e
:

p
r
i
v
a
t
e
H
i
e
r
a
r
c
h
i
e
<
4
,
R
o
u
e
>
{
/
*
*
*
*
/
}
;
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C
+

+
:

H
iérarchie

autom
atique

R
o
u
e

4
,
 
R
o
u
e

V
o
i
t
u
r
e

H
i
e
r
a
r
c
h
i
e

1
,
R
o
u
e

0
,
 
R
o
u
e

H
i
e
r
a
r
c
h
i
e

N
o

N
o

4
,
 
R
o
u
e

35

C
+

+
:

H
iérarchie

autom
atique

O
n

pourra
ensuite

appeler
la

m
éthode

t
r
u
c

de
la

troisièm
e

roue

R
o
u
e

avec
t
h
i
s
-
>
N
o
<
3
,
R
o
u
e
>
:
:
t
r
u
c
(
.
.
.
)

.

36



C
+

+
:

E
xpressions

tem
plate

O
n

veutécrire
une

bibliothèque
V
e
c
t
o
r

quiperm
ette

d’écrire,par

exem
ple

V
e
c
t
o
r
U
,
V
,
W
,
X
;
/
/
v
e
c
t
e
u
r
s
d
e

m
ê
m
e
t
a
i
l
l
e

/
/
.
.
.

X
=

(
V
+
W
)
*
5
-

U
;

S
ion

surcharge
classiquem

entles
opérateurs

pour
les

vecteurs,

chaque
sous-expression

nécessite
un

parcours
linéaire

etla

création
d’un

objettem
poraire.

C
om

m
entfaire

en
sorte

qu’un
telcalculse

fasse
avec

un
seul

parcours
etsans

objettem
poraire?

37

C
+

+
:

E
xpressions

tem
plate

La
solution

consiste
à

faire
en

sorte
que(

V
+
W
)
*
5
-

U

construise
un

arbre
d’itérateurs;

chaque
feuille

estun
itérateur

sur
le

vecteur
quiestun

atom
e

de

l’expression,

chaque
nœ

ud
interne

correspond
à

un
opérateur

arithm
étique,il

faitavancer
ses

fils
avec

luietson
déréférencem

entconsiste
à

appliquer
l’opérateur

au
déréférencem

entde
ses

fils.

L’opérateur
d’affectation

appliqué
à

cetarbre
provoque

le
parcours

quiperm
etde

renseigner
le

résultat.
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C
+

+
:

E
xpressions

tem
plate

s
t
r
u
c
t
V
e
c
t
o
r

{

d
o
u
b
l
e
E
l
e
m
e
n
t
s
[
3
]
;

t
y
p
e
d
e
f
d
o
u
b
l
e
*
i
t
e
r
a
t
o
r
;

t
y
p
e
d
e
f
c
o
n
s
t
d
o
u
b
l
e
*
c
o
n
s
t
_
i
t
e
r
a
t
o
r
;

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

c
o
n
s
t
V
e
c
t
o
r
&
o
p
e
r
a
t
o
r
=
(
T
t
)
;

i
t
e
r
a
t
o
r
b
e
g
i
n
(
)
{
r
e
t
u
r
n
E
l
e
m
e
n
t
s
;
}

i
t
e
r
a
t
o
r
e
n
d
(
)

{
r
e
t
u
r
n
E
l
e
m
e
n
t
s
+

3
;
}

c
o
n
s
t
_
i
t
e
r
a
t
o
r
b
e
g
i
n
(
)
c
o
n
s
t
{
r
e
t
u
r
n
E
l
e
m
e
n
t
s
;
}

c
o
n
s
t
_
i
t
e
r
a
t
o
r
e
n
d
(
)
c
o
n
s
t
{
r
e
t
u
r
n
E
l
e
m
e
n
t
s
+
3
;
}

}
;
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C
+

+
:

E
xpressions

tem
plate

/
/
C
e
q
u
i
e
s
t
c
o
m
m
u
n
à

t
o
u
s
l
e
s
n
o
e
u
d
s
b
i
n
a
i
r
e
s

t
e
m
p
l
a
t
e
<
c
l
a
s
s
T
,

c
l
a
s
s
U
>

s
t
r
u
c
t
B
i
n
a
r
y
O
p
B
a
s
e

{

B
i
n
a
r
y
O
p
B
a
s
e
(
T
I
1
,
U
I
2
)
:

I
t
1
(
I
1
)
,
I
t
2
(
I
2
)
{
}

i
n
l
i
n
e
v
o
i
d
o
p
e
r
a
t
o
r
+
+
(
)
{
+
+
I
t
1
;
+
+
I
t
2
;
}

T
I
t
1
;

U
I
t
2
;

}
;
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C
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+
:

E
xpressions

tem
plate

/
/
P
o
u
r
c
h
a
q
u
e
n
o
e
u
d
,
o
n
f
i
x
e
l
e
d
é
r
é
f
é
r
e
n
c
e
m
e
n
t

t
e
m
p
l
a
t
e
<
c
l
a
s
s
T
,

c
l
a
s
s
U
>

s
t
r
u
c
t
A
d
d
O
p
:

p
u
b
l
i
c
B
i
n
a
r
y
O
p
B
a
s
e
<
T
,
U
>

{

A
d
d
O
p
(
T
I
1
,
U

I
2
)
:

B
i
n
a
r
y
O
p
B
a
s
e
<
T
,
U
>
(
I
1
,
I
2
)
{
}

i
n
l
i
n
e
d
o
u
b
l
e
o
p
e
r
a
t
o
r
*
(
)
{

r
e
t
u
r
n
*
I
t
1
+

*
I
t
2
;
}

}
;

t
e
m
p
l
a
t
e
<
c
l
a
s
s
T
,

c
l
a
s
s
U
>

i
n
l
i
n
e
A
d
d
O
p
<
T
,
U
>

M
a
k
e
A
d
d
(
c
o
n
s
t
T
&
t
,

c
o
n
s
t
U
&

u
)

{
r
e
t
u
r
n
A
d
d
O
p
<
T
,
U
>
(
t
,
u
)
;

}
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C
+

+
:

E
xpressions

tem
plate

t
e
m
p
l
a
t
e
<
c
l
a
s
s
T
,

c
l
a
s
s
U
>

A
d
d
O
p
<
T
,
U
>

o
p
e
r
a
t
o
r
+
(
c
o
n
s
t
T
&
v
1
,
c
o
n
s
t
U
&
v
2
)

{

r
e
t
u
r
n
M
a
k
e
A
d
d
(
v
1
,
v
2
)
;

}A
d
d
O
p
<
V
e
c
t
o
r
:
:
c
o
n
s
t
_
i
t
e
r
a
t
o
r
,

V
e
c
t
o
r
:
:
c
o
n
s
t
_
i
t
e
r
a
t
o
r
>

o
p
e
r
a
t
o
r
+
(
c
o
n
s
t
V
e
c
t
o
r
&
v
1
,
c
o
n
s
t
V
e
c
t
o
r
&
v
2
)

{

r
e
t
u
r
n
M
a
k
e
A
d
d
(
v
1
.
b
e
g
i
n
(
)
,
v
2
.
b
e
g
i
n
(
)
)
;

}/
/
e
t
v
e
r
s
i
o
n
s
(
c
o
n
s
t
V
e
c
t
o
r
&
v
1
,
c
o
n
s
t
T
&
v
2
)

e
t
(
c
o
n
s
t
T
&
v
1
,
c
o
n
s
t
V
e
c
t
o
r
&
v
2
)

42



C
+

+
:

E
xpressions

tem
plate

Ilsuffitalors
de

surcharger
l’opérateur

d’affectation.

t
e
m
p
l
a
t
e
<
c
l
a
s
s
T
>

c
o
n
s
t
V
e
c
t
o
r
&
V
e
c
t
o
r
:
:
o
p
e
r
a
t
o
r
=
(
T
E
x
p
r
)

{

f
o
r
(
i
t
e
r
a
t
o
r
i

=
b
e
g
i
n
(
)
;
i

!
=
e
n
d
(
)
;

+
+
i
,
+
+
E
x
p
r
)

*
i

=
*
E
x
p
r
;

r
e
t
u
r
n
*
t
h
i
s
;

}etvoilà
!

43

R
evisitons

le
visiteur

C
onsidérons

une
hiérarchie

définissantune
structure

arborescente:

1
..n

N
o

eu
d

F
eu

ille
N

o
eu

d
In

tern
e

N
1

N
r

F
1

F
k

44

R
evisitons

le
visiteur

L’objectifdu
visiteur

estde
perm

ettre
d’ajouter

des
traitem

ents

(affichage,m
ise

à
jour,etc.)

exigeantle
parcours

des
élém

ents

d’une
telle

structure
sans

avoir
à

m
odifier

à
chaque

fois
les

classes

définissantla
structure.

Le
traitem

entsera
effectué

par
un

objet,appelé
visiteur;définir

un

nouveau
traitem

entconsistera
à

im
plém

enter
un

nouveau
visiteur.45

R
evisitons

le
visiteur

U
n

visiteur
doitspécifier

le
traitem

entpour
chaque

type
concretde

nœ
ud:

s
t
r
u
c
t
V
i
s
i
t
e
u
r
{

v
i
r
t
u
a
l
v
o
i
d
v
i
s
i
t
(
F
1
&
f
)

=
0
;

/
/
.
.
.

v
i
r
t
u
a
l
v
o
i
d
v
i
s
i
t
(
F
k
&
f
)

=
0
;

v
i
r
t
u
a
l
v
o
i
d
v
i
s
i
t
(
N
1
&
n
)

=
0
;

/
/
.
.
.

v
i
r
t
u
a
l
v
o
i
d
v
i
s
i
t
(
N
k
&
n
)

=
0
;

}
;
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R
evisitons

le
visiteur

A
priori,lorsqu’on

applique
le

visiteur
à

un
nœ

ud,on
ne

connaît

pas
sa

nature
exacte;pour

résoudre
le

type
du

nœ
ud,on

utilise
à

la
fois

le
polym

orphism
e

dynam
ique

etl’injection
de

contrôle.
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R
evisitons

le
visiteur

P
lutôtque

d’appliquer
le

visiteur
à

un
nœ

ud,c’estle
nœ

ud
qui

accepte
que

le
visiteur

luisoitappliqué:
s
t
r
u
c
t
N
o
d
e
{

v
i
r
t
u
a
l
v
o
i
d
a
c
c
e
p
t
(
V
i
s
i
t
e
u
r
&
v
)

=
0
;

/
/
.
.
.

}
;

s
t
r
u
c
t
F
1

{

v
o
i
d
a
c
c
e
p
t
(
V
i
s
i
t
e
u
r
&
v
)
{

v
.
v
i
s
i
t
(
*
t
h
i
s
)
;

}

}
;

C
haque

classe
concrète

contientune
im

plém
entation

identique
de

cette
m

éthode.

48



R
evisitons

le
visiteur

À
l’intérieur

de
chaque

m
éthode

v
i
s
i
t

,pour
visiter

les
éventuels

fils
du

nœ
ud,on

faitaussiappelà
leur

m
éthode

a
c
c
e
p
t

.

1
..n

F
eu

ille
N

o
eu

d
In

tern
e

N
1

N
r

P
rin

tV
isiteu

r

a
c
c
e
p
t(V

is
ite

u
r)

v
is

it(L
1
)

v
is

it(L
k
)

v
is

it(N
1
)

v
is

it(N
r)

N
o

eu
d

V
isiteu

r

F
1

F
k

49

R
evisitons

le
visiteur

Inconvénients:

le
visiteur

induitune
dépendance

cyclique
entre

les
classe:

N
o
d
e

dépend
de

V
i
s
i
t
e
u
r

quidépend
des

classes

concrètes
de

nœ
uds

quihéritentde
N
o
d
e

;

sijam
ais

on
veutétendre

la
hiérarchie

des
nœ

uds,ilfaut

rem
ettre

à
jour

chaque
classe

de
la

hiérarchie
des

visiteurs;

50

R
evisitons

le
visiteur

pour
chaque

hiérarchie
décrivantune

structure,ilfautune

hiérachie
de

visiteurs
distincte;

sion
veuttraiter

proprem
entles

visiteurs
"constants"

etles

visiteurs
non

constants,ilfautdeux
hiérarchies

distinctes
de

visiteurs.

51

V
isiteur

acyclic

P
our

lever
le

problèm
e

des
cycles

de
dépendance,on

déclare
une

interface
de

visiteur
pour

chaque
type

de
nœ

ud.

La
classe

V
i
s
i
t
e
u
r

devientune
classe

vide.

s
t
r
u
c
t
V
i
s
i
t
e
u
r
{

v
i
r
t
u
a
l
~
V
i
s
i
t
e
u
r
(
)
{
}

}s
t
r
u
c
t
N
i
V
i
s
i
t
e
u
r
{

v
i
r
t
u
a
l
v
o
i
d
v
i
s
i
t
(
N
i
&
n
)

=
0
;

}
;

52

V
isiteur

acyclic

U
ne

classe
concrète

de
visiteur

im
plém

ente
donc

V
i
s
i
t
e
u
r

et

toutes
les

interfaces
correspondantaux

nœ
uds

qu’ilpeutvisiter
(du

coup,iln’estpas
obligé

de
supporter

tous
les

types
de

nœ
uds).

53

V
isiteur

acyclic

D
ans

chaque
classe

de
la

hiérarchie,on
a

une
m

éthode
a
c
c
e
p
t

(toujours
déclarée

dans
N
o
d
e

)
spécifique:

s
t
r
u
c
t
N
i

:
p
u
b
l
i
c
N
o
e
u
d
{

v
i
r
t
u
a
l
v
o
i
d
a
c
c
e
p
t
(
V
i
s
i
t
e
u
r
&
v
)
{

N
i
V
i
s
i
t
e
u
r
*
p

=

d
y
n
a
m
i
c
a
l
_
c
a
s
t
<
N
i
V
i
s
i
t
e
u
r
*
>
(
&
v
)
;

i
f
(
p
)

p
-
>
v
i
s
i
t
(
*
t
h
i
s
)
;

e
l
s
e

t
h
r
o
w
u
n
s
u
p
p
o
r
t
e
d
_
n
o
d
e
_
t
y
p
e
(
"
N
i
"
)
;

}

}
;

54



V
isiteur

acyclic

1
..n

F
eu

ille
N

o
eu

d
In

tern
e

N
1

N
r

P
rin

tV
isiteu

r

a
c
c
e
p
t(V

is
ite

u
r)

N
o

eu
d

V
isiteu

r

N
rV

isiteu
r

v
is

it(N
r)

F
1

F
k

55

V
isiteur

acyclic
+

tem
plate

(1)

1
..n

F
eu

ille
N

o
eu

d
In

tern
e

N
1

N
r

P
rin

tV
isiteu

r

a
c
c
e
p
t(V

is
ite

u
r)

N
o

eu
d

V
isiteu

r

v
is

it(N
r)

T
V

isiteu
r

N
r

F
1

F
k

56

V
isiteur

acyclic
+

tem
plate

(1)

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
T
V
i
s
i
t
e
u
r
{

v
i
r
t
u
a
l
v
o
i
d
v
i
s
i
t
(
T
&
n
)
=
0
;

}
;

57

V
isiteur

acyclic
+

tem
plate

(1)

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
>

s
t
r
u
c
t
T
V
i
s
i
t
e
u
r
{

v
i
r
t
u
a
l
v
o
i
d
v
i
s
i
t
(
T
&
n
)
=
0
;

}
;

O
n

peuten
profiter

pour
choisir

le
type

de
retour

de
la

m
éthode

v
i
s
i
t

,pour
s’adapter

à
la

hiérarchie
qu’on

visite...

57

V
isiteur

acyclic
+

tem
plate

(2)

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
T
,

t
y
p
e
n
a
m
e
R
=
v
o
i
d
>

s
t
r
u
c
t
T
V
i
s
i
t
e
u
r
{

v
i
r
t
u
a
l
R

v
i
s
i
t
(
T
&
n
)
=
0
;

t
y
p
e
d
e
f
R

r
e
t
u
r
n
_
t
y
p
e
;

}
;

58

V
isiteur

acyclic
+

tem
plate

(2)

U
n

visiteur
concretsera

donc
de

la
form

e
:

s
t
r
u
c
t
E
v
a
l
V
i
s
i
t
e
u
r
:

p
u
b
l
i
c
V
i
s
i
t
e
u
r
,

p
u
b
l
i
c
T
V
i
s
i
t
e
u
r
<
F
1
,
i
n
t
>
,

p
u
b
l
i
c
T
V
i
s
i
t
e
u
r
<
N
3
,
i
n
t
>
{

i
n
t
v
i
s
i
t
(
F
1
&
f
)

{
/
*
.
.
.
*
/
}

i
n
t
v
i
s
i
t
(
N
3
&
n
)

{
/
*
.
.
.
*
/
}

}
;

O
n

peututiliser
des

listes
de

types
pour

spécifier
quels

nœ
uds

sontgérés...

Tous
les

v
i
s
i
t

doiventretourner
un

m
êm

e
type,quiestcelui

retourné
par

a
c
c
e
p
t

59



V
isiteur

acyclic
+

tem
plate

(2)

O
n

peutécrire
un

handler
quiperm

etde
gérer

des
listes

de

visiteurs:
t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
L
i
s
t
,
t
y
p
e
n
a
m
e
R
T
>

s
t
r
u
c
t
V
i
s
i
t
e
u
r
L
i
s
t
:

p
u
b
l
i
c
T
V
i
s
i
t
e
u
r
<
t
y
p
e
n
a
m
e
L
i
s
t
:
:
h
e
a
d
,
R
T
>
,

p
u
b
l
i
c
V
i
s
i
t
e
u
r
L
i
s
t
<
t
y
p
e
n
a
m
e
L
i
s
t
:
:
t
a
i
l
,
R
T
>

{
}
;

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
R
T
>

s
t
r
u
c
t
V
i
s
i
t
e
u
r
L
i
s
t
<
N
u
l
l
T
y
p
e
,
R
T
>
:

p
u
b
l
i
c
V
i
s
i
t
e
u
r
{
}
;

60

V
isiteur

acyclic
+

tem
plate

(2)

O
n

peutalors
définir

un
visiteur

spécifique
par

:

s
t
r
u
c
t
E
v
a
l
V
i
s
i
t
e
u
r
:

p
u
b
l
i
c
V
i
s
i
t
e
u
r
L
i
s
t
<
M
a
k
e
L
i
s
t
<
F
1
,
N
3
>
:
:
t
y
p
e
,
i
n
t
>

{

i
n
t
v
i
s
i
t
(
F
1
&
f
)

{
/
*
.
.
.
*
/
}

i
n
t
v
i
s
i
t
(
N
3
&
n
)

{
/
*
.
.
.
*
/
}

}
;

61

V
isiteur

acyclic
+

tem
plate

Ilfauts’assurer
que

la
hiérarchie

acceptante
fournitbien

des

m
éthodes

a
c
c
e
p
t

correctes.
O

n
crée

une
classe

pour
gérer

cela.62

V
isiteur

acyclic
+

tem
plate

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
R
=
v
o
i
d
>

s
t
r
u
c
t
V
i
s
i
t
a
b
l
e

{

t
y
p
e
d
e
f
R

r
_
t
y
p
e
;

v
i
r
t
u
a
l
r
_
t
y
p
e
a
c
c
e
p
t
(
V
i
s
i
t
e
u
r
&
v
)

=
0
;

}
;

s
t
r
u
c
t
N
o
d
e
:
p
u
b
l
i
c
V
i
s
i
t
a
b
l
e
<
i
n
t
>
{
/
*
*
*
/
}
;

s
t
r
u
c
t
N
i
:

p
u
b
l
i
c
N
o
d
e
{

r
_
t
y
p
e
a
c
c
e
p
t
(
V
i
s
i
t
e
u
r
&
v
)
{

V
i
s
i
t
e
u
r
<
N
i
,
r
_
t
y
p
e
>
*
p

=
d
y
n
a
m
i
c
_
c
a
s
t
<
V
i
s
i
t
o
r
<
N
i
,
r
_
t
y
p
e
>
*
>
(
&
v
)
;

i
f
(
p
)
r
e
t
u
r
n
p
-
>
v
i
s
i
t
(
*
t
h
i
s
)
;

e
l
s
e
t
h
r
o
w
u
n
s
u
p
p
o
r
t
e
d
_
n
o
d
e
_
t
y
p
e
(
"
N
i
"
)
;

}/
/
.
.
.

}
;
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V
isiteur

acyclic
+

tem
plate

P
our

éviter
au

clientquivoudraitajouter
des

classes
à

la
structure

d’écrire
une

m
éthode

a
c
c
e
p
t

com
pliquée,on

veutécrire
une

m
acro,pour

avoir
:

s
t
r
u
c
t
N
i
:

p
u
b
l
i
c
N
o
d
e
{

A
C
C
E
P
T
_
V
I
S
I
T
O
R

/
/
.
.
.

}
;

Le
seulproblèm

e
estque

dans
cette

m
acro,on

ne
peutpas

utiliser
le

type
de

la
classe

pour
le
d
y
n
a
m
i
c
_
c
a
s
t

...

64

V
isiteur

acyclic
+

tem
plate

O
n

transform
e

cette
m

éthode
objeten

m
éthode

tem
plate

statique...
t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
R
=
v
o
i
d
>

s
t
r
u
c
t
V
i
s
i
t
a
b
l
e

{

/
/
.
.
.

t
e
m
p
l
a
t
e
<
t
y
p
e
n
a
m
e
N
>

s
t
a
t
i
c
r
_
t
y
p
e
a
c
c
e
p
t
I
m
p
l
(
N
&
n
o
e
u
d
,
V
i
s
i
t
e
u
r
&
v
)
{

V
i
s
i
t
e
u
r
<
N
,
R
>
*
p

=
d
y
n
a
m
i
c
_
c
a
s
t
<
V
i
s
i
t
o
r
<
N
,
R
>
*
>
(
&
v
)
;

i
f
(
p
)
r
e
t
u
r
n
p
-
>
v
i
s
i
t
(
n
o
e
u
d
)
;

e
l
s
e
t
h
r
o
w
s
t
d
:
:
r
u
n
t
i
m
e
_
e
r
r
o
r
(
"
U
n
s
u
p
p
o
r
t
e
d
n
o
d
e
t
y
p
e
"
)
;

}

}
;
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V
isiteur

acyclic
+

tem
plate

...ce
quiestdans

la
m

acro
se

contente
d’utiliser

le

polym
orphism

e
pour

retrouver
le

type
exactdu

nœ
ud.

#
d
e
f
i
n
e
A
C
C
E
P
T
_
V
I
S
I
T
O
R
\

r
e
t
u
r
n
_
t
y
p
e
a
c
c
e
p
t
(
V
i
s
i
t
e
u
r
&
v
)
\

{
r
e
t
u
r
n
a
c
c
e
p
t
I
m
p
l
(
*
t
h
i
s
,
v
)
;
}

66

A
ssociation

B
A

E
n

C
+

+
,on

a
plusieurs

possibilités
pour

im
plém

enter
qu’une

classe
A

estassociée
à

une
classe

B
.

A
a

un
cham

p
de

type
B

;

A
a

un
cham

p
de

type
B

*;

A
a

un
cham

p
de

type
B

&
;

A
hérite

de
B

.
Laquelle

choisir
?

67

A
ssociation

S
tocker

un
pointeur

de
type

B
*

estpertinentdans
l’une

des
deux

situations
suivantes:

l’objetde
type

B
a

une
vie

indépendante
de

l’objetA
,ilpeutêtre

associé
à

plusieurs
objetde

type
A

etun
objetA

n’estpas

forcém
entà

sa
création

associé
à

un
objetde

type
B

;

A
peutêtre

en
réalité

associé
à

un
sous-type

de
B

(quiestalors

généralem
entpolym

orphe):
la

taille
de

cetobjetpeutalors

varier
etildoitêtre

stocké
en

dehors
de

la
classe;sil’objetB

estcréé
en

m
êm

e
tem

ps
que

l’objetA
,ce

sera
via

n
e
w

,ilfaut

alors
que

A
appelle

d
e
l
e
t
e

dans
son

destructeur.

68

A
ssociation

S
tocker

une
référence

de
type

B
&

estpertinentsil’objetB
existe

avantl’objet A
etque

celui-cin’en
change

pas
duranttoute

la

durée
de

sa
vie.

69

A
ssociation

:
C

om
position

S
tocker

un
cham

p
de

type
B

ou
hériter

de
B

revientau
m

êm
e.

D
ans

un
cas

com
m

e
dans

l’autre,la
durée

de
vie

de
l’objet B

est

liée
à

celle
de

A
.

Toutefois,on
peutchanger

sa
valeur

dans
les

deux
cas.

A
vec

un
cham

p:
A

a
(
/
*
.
.
.
*
/
)
;
/
/
C
r
é
a
t
i
o
n
d
e

a
e
t

d
e
a
.
b

/
/
.
.
.

a
.
b
=

v
a
l
e
u
r
B
;

A
vec

héritage:
A

a
(
/
*
.
.
.
*
/
)
;
/
/
C
r
é
a
t
i
o
n
d
e

a
e
t

d
e
s
o
n
p
è
r
e

/
/
.
.
.

s
t
a
t
i
c
_
c
a
s
t
<
B
&
>
(
a
)
=

v
a
l
e
u
r
B
;
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